~ . N £9111-10 1-3M |
LTOZ/¥-SS:aH 00L:1 ¢0'80°LL0C | MHueH JoBUBIN  gpie HowaN

wezs zley Auerejeso |\ wnjeg JJous|ig Tl

(MoJelegndey) ANIATIZSLZSTHIN

J9lPANWZS ‘Zley

R

SIS

Hilf

il

fliat-

Bo1N INSeA
aAI9) ISozoAjppabus
Is9}1doin yeurelinploy najnisyeq eyexAbeN

=

:eABig) seziqbay
9L/0GMN:AH | 'z 1n AB10AS) eszoq ‘eleyAbeN 09/2 -elezAuewlojyuQ sole) eieyAbeN
L ‘WYZSAY3L i :glepuaiboly J
\ ‘9ZonaL |
woo [lewb@ipubisepuny :jlew-3 . _ Aw-
Sl ‘N THLNSSOX ‘ueAueuln L9ez 14X NOIS3aA-NNH
L ‘9ZaNI8 ] [gJausD)

00G°}

- 006}

besjone) jozenia |

vi9' Ll - 0000

rC89LlL

r9LLLLL o 0097)-

r98L L)

Bessebew azana |

A

Jejeyyoe)

%

(Gg5¢) ouefeqgnde

%005°C

|

@
Al
o

%009 %000

— Y00} 18Z8MI8)

"!Vl/

000'9} | =)uizsdepy

000222 = Augnjazs

mmm_o>ﬂ J}9ZaMI3 |

08'LLL | 089¢C
- 969'LLL 00671
699°'ZLL + 0000

bessebew )jozania |

%

%005°C %005°C

IGEEEN ﬂ

%000

(1/16G€) 9uelogndes

26°¢

BY0A|0} iozZaAIB)

Jejeyyoe)

000°91 L=jizsdery

000'%0Z= Augnjezg

AN N o - o = o ==
¥ B g BE Besjong) yozenis | 2 % & BB Bes|ong) 1ozonia |
= 3 3 323 BesseBew jazana | > 5 2 BesseBew Jjazanla |
g 8 & =% S 3 8
000°9} b=juizsdepy 000°9} L=juizsdepy
Y00y ozana) 00085 1= Audnjezs 1 ephaemena 000'8Z1= Augnjezs
g 5z |
.m. 2 %0052 %0057 %0006 w-w L5 O R
g8 z 2| |
o o =& "
2 = S m
& ® 197 g
=} . ) i L
= 9¢C [ S
5 5 S B33 Bes|ong) nezania] = 5 2 5B Bes|one) Bozonia]
o o o oo o o o OO
3 5 & o3 Bessefew yazenia] 2 S 3 = BesseBew jozanis |
3 g & g2 S g & &8
0009} | =juizsdery 000°9} | =uizsdeyy
| exolio) yozonse 000°6€ 1= AugnjezS iy ez 000°96= Augnjazs
£z woose H005T %0002 m. T sz | %0ST %008 N
S| 3| g
3 3 =
= | g oTE - S
197¢ —

besjone) 1ozenia |

0000
0
0

besjone) ozonia |

- 068°LLL + 001V

- 0e6LLL + 0SCI-
-+ 068°ZLL | 0000
l
b

Bessebew 1azana |

- 09081 + 080V

- 068°LLL + 009°)-

- 098°LLL
8
L

bessebew nazana |

(1/865¢) ouefegndey

|
|

%000

W0GT | H0ST

mv_g_g l18ZaAl8)

Jejeyyse)

(U3 05E

000'9} }=)uizsdely

000°G/= Augnjezs

%005°C %009°C %000

icit4

(2/009¢) o:efeqndey

S07

BY0A|0) NozZaNIs)

000'9} }=juizsdely

000" L= Augnjezs

0000
G
§

mmw_o>ﬁ J}J9ZaAIs |

0000
g
6

besjone) ozania |

- 0918l + 0907

- 006'ZLL + 009)-

bessebew )jozana |

90'8LL 006t

- 888k - 00S'h
0s8LLL |
8
j

bessebew jozania |

%057 | %008 %000

-+ 098°LLL |
8
)i

]

09°C

(c/865€) c,ue!aqndel

(U272

wv_o>_o“_ NEYATVE]]

00091 L=piizsdey

000'2G= Augnjazs

%0057 | %008 %000
|

[

(109¢) osefegndey

067V

mv_g_oh J19ZaAls)

000°91 L=izsdey

000°0Z= Auanezs




